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Sentence

How to combine them to compose a sentence?
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A man knotted 39 cherry stems with his tongue in three minutes.
)

PRS0 22  knotted (20) + stems (B2XH0)

otME| ZALQ| Q|0 E7|g |/t

BEH2A  man (F0) + knotted (&0{) + stems (2X0])

In Siberia, solid blocks of tea were used as money until the 19th century.

A E H|elsh §AXEt 20 B2 were used (20])

e SAe| 2ln| ALE EIdCE

—_ O -

Q4 blocks (F0{) + were used (20)

MO



George, in excellent physical condition, ran the fastest of all and won.

* ran (80

A E Nelst 2tFst =20 T3 N
« won (&%)
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+ George (F0]) + ran (£0])
+ George (F0{) + won (£0{) [HE1X]
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The exposure to fine art allows a student to have an aesthetic experience.

+ allows (20) + student (F&0]) + to have experience (S E0])

AAE HQ5t 2tFIsH 20| 2
=401 E A2 =01 % * have (£0]) + experience (5%0)
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* exposure (F01) + student (FX0]) + to have an aesthetic experience(Z&E0, to
YA BFARR)

« student (20|14 F0{) + have (£01) + experience (FX0)
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verb noun

complete predicate
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subj complete predicate

sentence
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sentence conj sentence

clause clause

combined sentence
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(auxiliary verb)2t 2% £[0| 202 AIEEl &
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(EH, voice)= 22 20| HEst= EO BF

(8 mood) REEl MEE EFH|CH complete predicate

Kelly paused briefly.
AZtEE  Earlier, we had been skating there safely.
Soon they will gallop away.

| gave him the book.
The book was given by me.

| will wait here quietly.
= Wait here quietly.
Only if he could wait here quietly.
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A man knotted 39 cherry stems with his tongue in three minutes.

Ul 7HX| 2|0|FS
£AHE H|Qlst 2tFst &0 22  knotted (EX) + stems (BX0])

A = man
39 — stems
cherry = stems
A2 B3 his = tongue
knotted + with his tongue,
three = minutes
knotted + in three minutes

with hs tongue
in three minutes
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In Siberia, solid blocks of tea were used as money until the 19th century.

4| 7tX| 2J0|RS
A0 E H|QISH 2ATT 20 T8 were used (20])

In Siberia = used
solid — blocks
blocks + of tea
A2 RS used « as money
the — century
19th — century
used « until the 19th century

of tea
HX[A =2 as money
until the 19th century

= oo
HEIAX FS -
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George, in excellent physical condition, ran the fastest of all and won.

H| 7kX| o|o=3

* ran (20

A E H|Qst XSt =0 S « won (%)

0o

excellent = condition
physical = condition
George + in excellent physical conditional

A 2 RS
the — fastest
ran + fastest
fastest « of all
X% oo in excellent physical conditon
HEIAX FS ran the fastest of all + won (2t%8t 20 F32| HE LX)

The exposure to fine art allows a student to have an aesthetic experience.

| |

FESELEE

ZAI0E H|QIEH 2XEH =20 £ ¢ allows (E20{) + student (FX0]) + to have experience (& EH0])

= * have (£0{) + experience (FX01)

The = exposure
fine — art
exposure + to fine art

FH WA RS a —p> student
an — experience
aesthetic = experience

XM RS to fine art

HYAx 2 :
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Researchers began something.

Researchers began to believe that runners are able.

Researchers began to believe that runners are able to adjust leg stiffness.
(A0 « to BFAIR)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike.
(F=A10] « TX[AR)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike based on

their perceptions.
(A0 « 2AH)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike based on their
perceptions of the hardness or stiffness of the surface.
(F=A10] « TX[AR)

Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike based on their
perceptions of the hardness or stiffness of the surface on which they are running.

(@410 )

Researchers gradually began to believe that runners are subconsciously able to adjust leg stiffness prior to
foot strike based on their perceptions of the hardness or stiffness of the surface on which they are running.

(=410f « EAp
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